Please answer the following questions and show your work in steps.

#18.  Pam Snow invites 10 relatives to a party: her mother, 2 aunts, 3 uncles, 2 brothers, 1 male cousin, and 1 female cousin. If the chances of any one guest arriving first are equally likely, find the probabilities that the first guest to arrive is as follows.

a. An uncle or a cousin b. A male or a cousin c. A female or a cousin

#24 Use Venn diagrams to work Exercises 21 and 22.

Let P (Z) = .42, P(Y) = .35 P(Z ∪ Y) = .61 Find each probability.

a.  P(Z'  ∩ Y')  b. P(Z '∪ Y')  c.  P(Z '∪ Y)  d. P(Z ∪ Y')

16. The probability that the first number is 3, given the following.

a. The sum is 7.

b. The sum is 8.

26. Let A and B be independent events with P (A ) = ¼  and P(B ) 1/5. Find  P(A ∩ B) and P(A∪ B)

42 Genetics Assuming that boy and girl babies are equally likely,fill in the remaining probabilities on the tree diagram and use the following information to find the probability that a family with three children has all girls, given the following.

a)  The third is a girl

Note see the diagram below.
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